WS 15 Derivative Practice Test

Find the derivative of the following functions.

1. f(x)z (3x2 —4)5

2. f(x)=3x (2%)

5. g(x)= (ezx + x)+ (?;x2 —2x+ x)4

Name:



2
g yz( co§x j
1-sinx

9. vy (17x2—5x)50

10. y = e (sin(3x))

11. y=+/sinx

12. y= tan x

x°—1

13. y= arcsin(xz)

14. y= (x2 + l)arctan(x)



15. y= [arcc:os(x)]3
16. y = tan(6x)
17, y = sin 2x
cos2x
18. y = sinzx
x
. 1
19. y = tan(sin x)+—
7
20. y =3cos(5x)+ 3sin(x9)
21, y=sin’(3x% —2x+1)



22.

23.

24.

25.

26.

27.

28. y

flx)= sinz(\/;)

g(x)=e*" cos(2x)

y= [arcsin(x3 )]4

y= tan(6x2 —~ 1)

y =sin(3)e”

X

3

=<l )
y=Xx"tan| —
X

_ sec’ x —tan® x



29.

30.

31.

32.

33.

34.

35.

_ COSXx

y = sin(sin(4x))+ 1
e

y =cos’ (3x2 -~ 7x)

—
s eos'l4)

_ tan x
2x—1

y=3sinx-1



36. y = (sinx)e® + 77

37. y =

38. y :lsinx—lcosx
7 6

_cse’ x—cot’ x

39. y
x
40, y= Cf)S(9x)
s1n(9x)

1
41. y =sin(t —
y = sin( anx)+37

42, y=4x’ tan(_—lj
X



